70 95920



5/27/2014

Ft. Bend County Attn: Richard Stolleis 1124-52 Blume Rd. Rosenberg TX 77471

Re: Invoice # INV0002897

Cane Island Fort Bend County, Texas WO# 95920

Billing Period: 05.01 - 05.15

QUANTITY	DESCRIPTION	RATE	AMOUNT
2.00	Days at \$450/day	\$450.00	\$900.00
98.00	Mileage	\$0.560	\$54.88
1.00	Phone @ \$7/day	\$7.00	\$7.00

TOTAL AMOUNT OF BILLING:

\$961.88



Cane Island
Billing Period from 05/01/2014to 05/15/2014

2 2.00 \$900.00 98.0	Total Total Landman Count Days Landman Mile:	
:.00	les	
\$54.88	Mileage Total	
\$0.00	Lodging	B
\$0.00	Meals	ling Perio
\$0.00	Per Diem Regular	d from 05/0
\$0.00	Per Diem Tax	1/2014to 05/1
\$0.00	Fedex	5/2014
\$0.00	Postage	
\$0.00	Maps	
\$0.00	Rec	
\$0.00	Copies	
\$7.00	Phone	
\$0.00	Other	
\$61.88	Total Expense	
\$961.88	Total Billed	



\$736.88	\$61.88	\$0.00	\$7.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$54.88		98.00	\$675.00	1.50	
															& title, etc.)	suments (deeds	Assisted surveying with documents (deeds & title, etc.)	Ass
\$112.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.56	0.00	\$112.50	0.25 \$450.00	5/14/2014
															& title, etc.)	cuments (deeds	Assisted surveying with documents (deeds & title, etc.	Ass
\$112.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.56	0.00	\$112.50	0.25 \$450.00	5/12/2014
													parcels	Shellenberg p	ng Bain and	rmation regardi	Dealing with conflicting information regarding Bain and Shellenberg parcels	De
\$112.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.56	0.00	\$112.50	0.25 \$450.00	5/7/2014
															g on site	Mr. Shellenber	Meeting with Appraiser and Mr. Shellenberg on site	Me
\$286.88	\$61.88	\$0.00	\$7.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$54.88	\$0.56	98.00	\$225.00	0.50 \$450.00	5/5/2014
													ř	property owns	splacee and	ppraiser and dis	Prparing for meeting with appraiser and displacee and property owner	Pr
\$112.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.56	0.00	\$112.50	0.25 \$450.00	5/4/2014
Total Billed	Total Expense	Other	Phone	Copies	Rec	Maps	Postage	Fedex	Per Diem Tax	Per Diem Regular	Meals	Lodging	Mileage Total	Mileage Rate	Miles	Total Rate Landman	Days Rate	Date



	pro	5/15/2014	Ad	5/7/2014	Date	Meisenheimer, Monica
0.50	provided information and answered emails for Survey Company	0.25 \$450.00	Additional title research for Survey to locate boundary lines	0.25 \$450.00	Days	
	n and ans	50.00	arch for S	50.00	Rate	5/2014 t
\$225.00	wered emails f	\$112.50	urvey to locate	\$112.50	Total Rate Landman	5/15/2014 to 5/7/2014
0.00	or Survey (0.00	boundary	0.00	Miles	
	Company	\$0.56	lines	\$0.56	Mileage Rate	
\$0.00		\$0.00		\$0.00	Mileage Total	
\$0.00		\$0.00		\$0.00	Mileage Total Lodging	
\$0.00		\$0.00		\$0.00	Meals	
\$0.00		\$0.00		\$0.00	Per Diem Per Diem Regular Tax	Cane
\$0.00		\$0.00		\$0.00	Per Diem Tax	Cane Island
\$0.00		\$0.00		\$0.00	Fedex	
\$0.00		\$0.00		\$0.00	Postage	
\$0.00		\$0.00		\$0.00	Maps	
\$0.00		\$0.00		\$0.00	Rec	
\$0.00		\$0.00		\$0.00	Copies	
\$0.00		\$0.00		\$0.00	Phone	
\$0.00		\$0.00		\$0.00	Other	
\$0.00		\$0.00		\$0.00	Total Expense	
\$225.00		\$112.50		\$112.50	Total Billed	